

ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
Ref: - AG202 0/Alf/J KR/Faz /1019 /054	В2		AGAL-GBH JASMIN HOSPITAL BASIN -CWBSNWHB0TJSM028WH33 Hospital Basin -FTAC0BB120FIXINGBOLT Basin Fixing Bolts w Washers & Inserts Set	103	371.00	38,213.00
В	Т4		Ideal Standard (Armitage Shanks) CERAPLUS B8314 basin mixer exposed sequential with 180mm lever and 150mm spout, standard S-connectors with noise reducers.	103	1,000.00	103,000.00
	D2		AGAL-AKRON A-126-C32 1¼" CP brass basin Tubular P-trap with 180mm long vertical pipe & 330mm long outlet tube.	103	36.00	3,708.00
С		AGAL-AKRON A47-B 1¼" CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long slotted tail & CP counter nut.	103	26.00	2,678.00	
			Т	o Collect	tion C/20/1 :-	147,599.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	M1		1st grade polished glass mirror with frameless bevelled edges c/w mirror screws. Size: 450 (L) x 600 (H) X 6 (T) mm	103	83.00	8,549.00
В	А3	1	AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	103	172.00	17,716.00
С	A2	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	103	101.00	10,403.00
D	A11		High pressure laminated (HPL) bevelled edges board with 6 prepunched holes for fixing screws and 6 nos screws with caps.  Size: 700 (L) x 1800 (H) x 10 (T) mm	103	365.00	37,595.00
E	В8		Stainless steel grade 304 cleaner's sink. 150(H)mm back splash to the rear. Tubular adjustable legs. Deep integral bowl. Unit fixed to the wall with AAC blocks UX-10-x-60R screws.  Size: 533 (L) x 483 (W) x 760(H) mm  Thickness: 1.0mm	29	765.00	22,185.00
			Stainless steel grade 304 mop holder with rag hooks. Size: 660 (L) x 122 (W) x 93(H) mm	29	295.00	8,555.00 <b>96,448.00</b>



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
	<b>D</b> 2-		AGAL-AKRON A-186 1¼" CP brass Deluxe bottle trap with 210mm long vertical pipe & 320mm long outlet tube.	29	71.00	2,059.00
A	P3a		AGAL-AKRON A47-B 1¼" CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long slotted tail & CP counter nut.	29	26.00	754.00
В	Т3		AGAL-AKRON EH-0211 1/2" CP bibtap with extended spout, quarter turn lever handle & wall flange.	29	30.00	870.00
С	A6	18 18 18	Stainless steel grade 304 mop holder with rag hooks. Size: 660 (L) x 122 (W) x 93(H) mm	29	295.00	8,555.00
D	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	29	14.00	406.00
E	В7		AGAL-AKRON MEDICARE PLASTER SINK Flat surface single worktop. 400mm high integral splash back to the rear with no tap hole. Marine and bullnose edges. C/w plaster trap and swing door. Unit fixed to the wall and supported by stainless steel tubular legs with adjustable stainless steel bullet feet. Deep bowl Size: 380 (L) x 220 (W) X 305 (D) mm Overall size: 500 (L) x 450 (W) x 900 (H) mm **Size is subject to site measurement	3	1,648.00	4,944.00
				o Collect	tion C/20/3 :-	17,588.00
А	Т4		Ideal Standard (Armitage Shanks) CERAPLUS B8314 basin mixer exposed sequential with 180mm lever and 150mm spout, standard S-connectors with noise reducers.	3	1,000.00	3,000.00
В	А3	*	AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	3	172.00	516.00
С	A3		•	3	172.00	516.00 303.00
			dispenser with lock. vol.: 450c-fold  AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap			
С	A2		AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre  AGAL-AKRON A-186 1¼" CP brass Deluxe bottle trap with 210mm long vertical pipe & 320mm long outlet tube.  Solid Surface Baby Bath with built in basin(s) c/w 100mm backsplash with 200mm front & side fascia of thickness 12mm. (PADDED FOAM BY OTHER) Bowl Size: 500 (L) x 400 (W) X 175 (D) mm Overall Size: 1500 (L) x 600 (W) mm	3 3	101.00	303.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
A	<b>S4</b>		Armitage Shanks A4127AA Contour 21 wall mounted exposed thermostatic fail safe shower with built-in safety stop feature. Small lever operated. Suitable for balanced high pressure systems. Ease of installation with variable centres and unique maximum hot supply temperature override for safe thermal disinfection. Clear hot & cold indices that will not wear off through use or cleaning.	1	1,834.00	1,834.00
			<b>Akron XJY-218C</b> 5-mode hand shower c/w CP flexible hose & bracket.	1	36.00	36.00
В	T12		Ideal Standard (Armitage Shanks) CERAPLUS B8314 basin mixer exposed sequential with 180mm lever and 150mm spout, standard S-connectors with noise reducers.	1	1,000.00	1,000.00
С	P2a		AGAL-AKRON A-126-C38 1½" CP brass sink Tubular P-trap with 180mm long vertical pipe & 330mm long outlet tube.	1	48.00	48.00
C	PZd		AGAL-AKRON A43-B 1¼" dome-headed CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long unslotted tail & CP brass locking nut.	1	28.00	28.00
D	А3		AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	1	172.00	172.00
E	A2	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	1	101.00	101.00
			To	o Collect	tion C/20/5 :-	3,219.00



ITEM	CODE	DICTURE	DESCRIPTION			ANACUNT (PNA)
HEIVI	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	B10		Stainless steel grade 304 surgeon scrub sink. 550mm high integral splash back to the rear. Contoured anti-splash fronts to reduce the risk of back splashing.  Unit fixed to the wall with galvanised steel brackets.  *Subject to site measurements  Size: 800 (L) x 530 (W) x 1250 (H) x 400 (D) mm  Thickness: 1.5mm	1	1,648.00	1,648.00
В	Т4		Ideal Standard (Armitage Shanks) CERAPLUS B8314 basin mixer exposed sequential with 180mm lever and 150mm spout, standard S-connectors with noise reducers.	1	1,000.00	1,000.00
С	P2a		AGAL-AKRON A-126-C38 1½" CP brass sink Tubular P-trap with 180mm long vertical pipe & 330mm long outlet tube.	1	48.00	48.00
	PZd		AGAL-AKRON A43-B 1¼" dome-headed CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long unslotted tail & CP brass locking nut.	1	28.00	28.00
D	А3		AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	1	172.00	172.00
Е	А7		Akron NB-DISP surface mounted stainless steel (Type 304) nail brush dispenser c/w finger nail brushes.	1	412.00	412.00
			To To	o Collect	tion C/20/6 :-	3,308.00
А	A2b	Î	AGAL-AKRON FD-628-6 Lavatory mounted soap dispenser with 6" long spout and 1000ml bottle	1	110.00	110.00
В	B10a		Stainless steel grade 304 surgeon scrub sink. 550mm high integral splash back to the rear. Contoured anti-splash fronts to reduce the risk of back splashing. Unit fixed to the wall with galvanised steel brackets. *Subject to site measurements Size: 2400 (L) x 530 (W) x 1250 (H) x 400 (D) mm Thickness: 1.5mm	2	2,706.00	5,412.00
С	Т4		Ideal Standard (Armitage Shanks) CERAPLUS B8314 basin mixer exposed sequential with 180mm lever and 150mm spout, standard S-connectors with noise reducers.	6	1,000.00	6,000.00



			T			KR/Faz/1019/054
ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
D	P2a		AGAL-AKRON A-126-C38 1½" CP brass sink Tubular P-trap with 180mm long vertical pipe & 330mm long outlet tube.	2	48.00	96.00
D	PZd		AGAL-AKRON A43-B 1¼" dome-headed CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long unslotted tail & CP brass locking nut.	2	28.00	56.00
E	А3	1	AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	2	172.00	344.00
			т	o Collec	tion C/20/7 :-	12,018.00
А	А7		Akron NB-DISP surface mounted stainless steel (Type 304) nail brush dispenser c/w finger nail brushes.	2	412.00	824.00
В	A2b	Î	AGAL-AKRON FD-628-6 Lavatory mounted soap dispenser with 6" long spout and 1000ml bottle	2	110.00	220.00
			AGAL-AKRON ESH 232 CP ABS single mode shower head & brass arm.	15	30.00	450.00
С	<b>S2</b>		AGAL-AKRON 39017-362 CP Brass Single Lever Conceal Shower Mixer with Rectangular Sliding Plate. 3-way Concealed Part Included	15	101.00	1,515.00
D	Т3		AGAL-AKRON EH-0211 1/2" CP bibtap with extended spout, quarter turn lever handle & wall flange.	15	30.00	450.00
E	A13		AGAL-AKRON AE-313-L Stainless steel screw-to-wall corner basket Size: (L230*D165*H50)mm	15	65.00	975.00
F	A12	=-3)	AGAL-AKRON 750-TR Stainless steel towel rail with 54mm diameter concealed fixing flange & screws (projection 71mm) 750mm length x 19mm diameter	15	56.00	840.00
G	A4		AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.	15	29.00	435.00
Н	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	15	14.00	210.00 <b>5,919.00</b>
To Collection C/20/8 :-						



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
			AGAL-AKRON ESH 238 CP ABS hand shower, single mode	27	19.00	513.00
А	<b>S1</b>		AGAL-AKRON 39017-362 CP Brass Single Lever Conceal Shower Mixer with Rectangular Sliding Plate. 3-way Concealed Part Included	27	101.00	2,727.00
			AGAL-AKRON ZY-6320 $\frac{1}{2}$ " * $\frac{1}{2}$ " M/M CP solid brass deluxe wall water offtake connector.	27	29.00	783.00
В	Н6		AGAL-AKRON AGF187 Heavy duty urea shower seat with CP hinged and fixing set for fixing to solid wall.  Max.Loading: 160kg W350 x D275mm	27	180.00	4,860.00
С	Н3		AGAL-AKRON AGXY32-29-1 Folding grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Can be folded upwards and with friction device downwards. Unit c/w CP metal plate supporting and fixing set for fixing to solid wall Ø35mm * 700mm	27	396.00	10,692.00
			Tı	o Collec	tion C/20/9 :-	19,575.00
А	Н5		AGAL-AKRON AGXY32-27 (Reversible) L-Shaped grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Unit c/w fixing set and roses for fixing to solid wall Ø35mm * 700 * 700mm(end-to-end)	27	222.00	5,994.00
В	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	27	14.00	378.00
С	A4		AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.	27	29.00	783.00
D	A10	···O	AKRON BSB-128 Stainless steel grade 304 rotatable drip hook. Size: 58mm (W) x 63(H) mm x 90mm (D)	27	100.00	2,700.00
E	A13		AGAL-AKRON AE-313-L Stainless steel screw-to-wall corner basket Size: (L230*D165*H50)mm	27	65.00	1,755.00
F	B1		AGAL-GBH BORONIA WALL HUNG BASIN #5091 CWBSNWHBCTBRN035WH32 Boronia Basin FTAC0BB120FIXINGBOLT Basin Fixing Bolts w Washers & Inserts Set. 460mm(W) x 385mm(D) x 170mm(H)	50	76.00	3,800.00
G	Т1	95mm	AGAL-AKRON 6019-973 CP brass pillar mounted basin tap with lever handle, Spout distance: 95mm	50	35.00	1,750.00
To Collection C/20/10:-						17,160.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)	
А	M1		1st grade polished glass mirror with frameless bevelled edges c/w mirror screws.  Size: 450 (L) x 600 (H) X 6 (T) mm	50	83.00	4,150.00	
В	АЗ	*	AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	50	172.00	8,600.00	
С	A2a	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	50	101.00	5,050.00	
			AGAL-AKRON 6004B 1½" CP ZDC bottle trap with 120mm long vertical pipe & 300mm long outlet tube.	50	24.00	1,200.00	
D	P1a		AGAL-AKRON A47-B 1¼" CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long slotted tail & CP counter nut.	50	26.00	1,300.00	
E	F1	A230	<b>AGAL-AKRON A-230-4 4</b> " square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	50	14.00	700.00	
F	V1	03 3	SOLID SURFACE VANITY TOP (1 BOWL) Solid surface vanity top with built in basin(s) c/w 100mm backsplash with 200mm front & side fascia of thickness 12mm & galvanised steel L-brackets.  Bowl Size: 585 (L) x 395 (W) X 172 (D)mm  Overall Size: 750 (L) x 600 (W) mm with 1 no. integral basins.	4	859.00	3,436.00	
	To Collection C/20/11 :-						



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	T1	95mm	AGAL-AKRON 6019-973 CP brass pillar mounted basin tap with lever handle, Spout distance: 95mm	4	35.00	140.00
В	M2		STANDARD MIRROR 1st grade polished glass mirror with frameless bevelled edges c/w mirror screws.  Size: 750 (L) x 600 (H) X 6 (T) mm	4	118.00	472.00
С	А3	1	AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	4	172.00	688.00
D	A2a	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	4	101.00	404.00
		1	AGAL-AKRON 6004B 1½" CP ZDC bottle trap with 120mm long vertical pipe & 300mm long outlet tube.	4	24.00	96.00
E	P1		AGAL-AKRON A47-B 1¼" CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long slotted tail & CP counter nut.	4	26.00	104.00
F	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	4	14.00	56.00
G	V2		SOLID SURFACE VANITY TOP (2 BOWL) Solid surface vanity top with built in basin(s) c/w 100mm backsplash with 200mm front & side fascia of thickness 12mm & galvanised steel L-brackets. Bowl Size: 585 (L) x 395 (W) X 172 (D)mm Overall Size: 1600 (L) x 600 (W) mm with 2 no. integral basins.	39	1,598.00	62,322.00
	To Collection C/20/12 :-					



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	T1	95mm	AGAL-AKRON 6019-973 CP brass pillar mounted basin tap with lever handle, Spout distance: 95mm	39	35.00	1,365.00
В	М3		STANDARD MIRROR 1st grade polished glass mirror with frameless bevelled edges c/w mirror screws.  Size: 1600 (L) x 600 (H) X 6 (T) mm  (Size per mirror is 800mm x 600mm)	39	231.00	9,009.00
С	А3	1	AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	39	172.00	6,708.00
D	A2a	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	39	101.00	3,939.00
			AGAL-AKRON 6004B 1½" CP ZDC bottle trap with 120mm long vertical pipe & 300mm long outlet tube.	39	24.00	936.00
E	P1		AGAL-AKRON A47-B 1½" CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long slotted tail & CP counter nut.	39	26.00	1,014.00
F	F1	A230	<b>AGAL-AKRON A-230-4 4</b> " square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	39	14.00	546.00
	To Collection C/20/1:					



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	V3		SOLID SURFACE VANITY TOP (3 BOWL) Solid surface vanity top with built in basin(s) c/w 100mm backsplash with 200mm front & side fascia of thickness 12mm & galvanised steel L-brackets.  Bowl Size: 585 (L) x 395 (W) X 172 (D)mm  Overall Size: 2200 (L) x 600 (W) mm with 3 no. integral basins.	2	2,216.00	4,432.00
В	T1	95mm	AGAL-AKRON 6019-973 CP brass pillar mounted basin tap with lever handle, Spout distance: 95mm	2	35.00	70.00
С	M4		STANDARD MIRROR 1st grade polished glass mirror with frameless bevelled edges c/w mirror screws.  Size: 2200 (L) x 600 (H) X 6 (T) mm  (Size per mirror is 730mm x 600mm)	2	271.00	542.00
D	А3		AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	2	172.00	344.00
E	A2a	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	2	101.00	202.00
			AGAL-AKRON 6004B 1½" CP ZDC bottle trap with 120mm long vertical pipe & 300mm long outlet tube.	2	24.00	48.00
F	P1	W.	AGAL-AKRON A47-B 1½" CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long slotted tail & CP counter nut.	2	26.00	52.00
G	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	2	14.00	28.00
	1		То	Collecti	on C/20/14 :-	5,718.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	KR/Faz/1019/054  AMOUNT (RM)
А	V4	FICTORE	SOLID SURFACE VANITY TOP (4 BOWL) Solid surface 12mm thick vanity with integrated sink.100mm high integral splash back to the rear. 200mm front and side fascias with 9mm thick ply backing. To be installed on MS angle brackets. *Subject to site measurements Sink Bowl Size: 585 (L) x 395 (W) x 172 (D) mm Overall Size: 3100 (L) x 600 (W) x 200 (H) mm 4 no. integral basins.	3	2,979.00	8,937.00
В	Т1	95mm	AGAL-AKRON 6019-973 CP brass pillar mounted basin tap with lever handle, Spout distance: 95mm	3	35.00	105.00
С	М3		STANDARD MIRROR 1st grade polished glass mirror with frameless bevelled edges c/w mirror screws. Size: 3100 (L) x 600 (H) X 6 (T) mm (Size per mirror is 775mm x 600mm)	3	500.00	1,500.00
D	А3		AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	3	172.00	516.00
E	A2a	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	3	101.00	303.00
			AGAL-AKRON 6004B 1¼" CP ZDC bottle trap with 120mm long vertical pipe & 300mm long outlet tube.	3	24.00	72.00
F	P1		AGAL-AKRON A47-B 1¼" CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long slotted tail & CP counter nut.	3	26.00	78.00
			То	Collecti	on C/20/15 :-	11,511.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)	
А	F1	A230	<b>AGAL-AKRON A-230-4 4</b> " square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	3	14.00	42.00	
В	H1		AGAL-GBH WL010 CEMPAKA DISABLE FRIENDLY BASIN CWHSWWHB0000L010WH31 Disable Fiendly Basin FTAC0BB120FIXINGBOLT Basin Fixing Bolts w Washers & Inserts Set. Size: 675mm(W) X 530mm(D) X 205mm(H)	20	371.00	7,420.00	
С	T13		AGAL-AKRON ZY-3113 1/2" CP elbow action deluxe pillar tap with 180mm long lever handle, Spout distance: 110mm	20	62.00	1,240.00	
,	,		AGAL-AKRON 6004B 1¼" CP ZDC bottle trap with 120mm long vertical pipe & 300mm long outlet tube.	20	24.00	480.00	
D	P1a		AGAL-AKRON A47-B 1¼" CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long slotted tail & CP counter nut.	20	26.00	520.00	
E	M7	<b>8</b> =	1st grade polished glass slewing mirror with frameless bevelled edges and adjustable up and down bracket. Size: 500 (L) x 700 (H) X 6 (T) mm	20	312.00	6,240.00	
F	A2c	E	Akron Brightwell CR2 surface mounted liquid soap dispenser with elbow action lever handle.	20	165.00	3,300.00	
	To Collection C/20/16 :- 19						



ITENA	CODE	DICTUDE	DESCRIPTION	_	- AG2020/Alf/JI	
ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	Н3		AGAL-AKRON AGXY32-29-1 Folding grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Can be folded upwards and with friction device downwards. Unit c/w CP metal plate supporting and fixing set for fixing to solid wall Ø35mm * 700mm	20	396.00	7,920.00
В	W4		AGAL-GBH Lotus Handicap Washdown Back to Wall WC S-155MM Top inlet CWJASONLTSFVTIHFTXS1 Top Inlet CWJASONLTSFVBIHFTXS1 Back Inlet FTPRTPLSOC00000000001 Straight Outlet Connector SCPLSVA2017000LBTW08 & FTANL00000SSTAILSPLS Soft Close Seat Cover C/W SS Hinges & Bracket 430mm(H) x 365mm(W) x 650mm(L)	24	595.00	14,280.00
С	FV2		AGAL-AKRON FC-102 Exposed WC flushvalve only	24	186.00	4,464.00
			AGAL-AKRON FC-112A 32mm CP metal inlet spud (for top inlet WC)	24	30.00	720.00
D	Т9	714	AGAL-AKRON EH-1075 1/2" M/M CP angle valve with quarter turn lever handle & wall flange c/w flexible hose, cleansing nozzle & wall bracket.	24	52.00	1,248.00
E	H2		AGAL-AKRON AGXY32-23 Straight grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Unit c/w fixing set and roses for fixing to solid wall Ø35mm * 600mm (end-to-end)	24	90.00	2,160.00
			То	Collecti	on C/20/17 :-	30,792.00
А	нз		AGAL-AKRON AGXY32-29-1 Folding grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Can be folded upwards and with friction device downwards. Unit c/w CP metal plate supporting and fixing set for fixing to solid wall Ø35mm * 700mm	24	396.00	9,504.00
В	F1		AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity	24	14.00	336.00
		A230	and 30mm long tail to suit 3" diameter PVC pipe.			
С	A1	A230	and 30mm long tail to suit 3" diameter PVC pipe.  AGAL-AKRON 1008 Stainless steel SUS 304 wall mounted toilet roll holder with hood.	24	33.00	792.00
C	A1	A230	AGAL-AKRON 1008 Stainless steel SUS 304 wall mounted toilet roll	24	33.00	792.00 696.00
		A230	AGAL-AKRON 1008 Stainless steel SUS 304 wall mounted toilet roll holder with hood.  AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.  AGAL-GBH AZALEA WALL HUNG WC #0173 CWWCPWHWPBAZL000WH31 Azalea Washdown Wall Hung WC. Soft Close Seat Cover(Included) FTPRTPLSOC0000000001 Straight Outlet Connector FTBKTSTLWP0000000001 Wall Hung Brackets Set 360mm(H) x 365mm(W) x 530mm(L)	24		



						KR/Faz/1019/054
ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
			AGAL-AKRON B-18 Manual in-wall box type WC flushvalve c/w CP 700x300x32mmØ Lshaped flushpipe & 32mm rubber spud	22	341.00	7,502.00
Α	FV1		AGAL-AKRON 129340 32mm rubber spud (for back inlet WC)	22	3.00	66.00
			AGAL-AKRON 136CY-800500CP CP L-shape flushpipe 800mm x 500mm x Ø32mm	22	60.00	1,320.00
В	Т9		AGAL-AKRON EH-1075 1/2" M/M CP angle valve with quarter turn lever handle & wall flange c/w flexible hose, cleansing nozzle & wall bracket.	22	52.00	1,144.00
С	H2	5	AGAL-AKRON AGXY32-23 Straight grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Unit c/w fixing set and roses for fixing to solid wall Ø35mm * 600mm (end-to-end)	22	90.00	1,980.00
D	нз		AGAL-AKRON AGXY32-29-1 Folding grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Can be folded upwards and with friction device downwards. Unit c/w CP metal plate supporting and fixing set for fixing to solid wall Ø35mm * 700mm	22	396.00	8,712.00
E	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	22	14.00	308.00
F	A1	-	AGAL-AKRON 1008 Stainless steel SUS 304 wall mounted toilet roll holder with hood.	22	33.00	726.00
			То	Collecti	on C/20/19 :-	21,758.00
А	A4		AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.	Collecti 22	on C/20/19 :- 29.00	<b>21,758.00</b> 638.00
A B	A4		AGAL-AKRON 18104-RD Chrome plated brass double robe hook			
			AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.  AKRON BSB-128 Stainless steel grade 304 rotatable drip hook.	22	29.00	638.00
В	A10		AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.  AKRON BSB-128 Stainless steel grade 304 rotatable drip hook. Size: 58mm (W) x 63(H) mm x 90mm (D)  AGAL-GBH AZALEA WALL HUNG WC #0173 CWWCPWHWPBAZL000WH31 Azalea Washdown Wall Hung WC. Soft Close Seat Cover(Included) FTPRTPLSOC00000000001 Straight Outlet Connector FTBKTSTLWP0000000001 Wall Hung Brackets Set	22	29.00	638.00 2,200.00
В	A10		AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.  AKRON BSB-128 Stainless steel grade 304 rotatable drip hook. Size: 58mm (W) x 63(H) mm x 90mm (D)  AGAL-GBH AZALEA WALL HUNG WC #0173 CWWCPWHWPBAZL000WH31 Azalea Washdown Wall Hung WC. Soft Close Seat Cover(Included) FTPRTPLSOC000000001 Straight Outlet Connector FTBKTSTLWP000000001 Wall Hung Brackets Set 360mm(H) x 365mm(W) x 530mm(L)  AGAL-AKRON B-18 Manual in-wall box type WC flushvalve c/w CP	22 22 71	29.00	638.00 2,200.00 28,968.00
С	A10		AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.  AKRON BSB-128 Stainless steel grade 304 rotatable drip hook. Size: 58mm (W) x 63(H) mm x 90mm (D)  AGAL-GBH AZALEA WALL HUNG WC #0173 CWWCPWHWPBAZL000WH31 Azalea Washdown Wall Hung WC. Soft Close Seat Cover(Included) FTPRTPLSOC0000000001 Straight Outlet Connector FTBKTSTLWP0000000001 Wall Hung Brackets Set 360mm(H) x 365mm(W) x 530mm(L)  AGAL-AKRON B-18 Manual in-wall box type WC flushvalve c/w CP 700x300x32mmØ Lshaped flushpipe & 32mm rubber spud	22 22 71	29.00 100.00 408.00	2,200.00 28,968.00 24,211.00
С	A10		AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.  AKRON BSB-128 Stainless steel grade 304 rotatable drip hook. Size: 58mm (W) x 63(H) mm x 90mm (D)  AGAL-GBH AZALEA WALL HUNG WC #0173 CWWCPWHWPBAZL000WH31 Azalea Washdown Wall Hung WC. Soft Close Seat Cover(Included) FTPRTPLSOC0000000001 Straight Outlet Connector FTBKTSTLWP0000000001 Wall Hung Brackets Set 360mm(H) x 365mm(W) x 530mm(L)  AGAL-AKRON B-18 Manual in-wall box type WC flushvalve c/w CP 700x300x32mmØ Lshaped flushpipe & 32mm rubber spud  AGAL-AKRON 129340 32mm rubber spud (for back inlet WC)  AGAL-AKRON 136CY-800500CP CP L-shape flushpipe 800mm x	22 22 71 71 71	29.00 100.00 408.00 341.00	638.00 2,200.00 28,968.00 24,211.00



			T	кеј:		KR/Faz/1019/054
ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	A1	F	AGAL-AKRON 1008 Stainless steel SUS 304 wall mounted toilet roll holder with hood.	71	33.00	2,343.00
В	A4		AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.	71	29.00	2,059.00
С	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	71	14.00	994.00
D	W1		AGAL-GBH AZALEA WALL HUNG WC #0173 CWWCPWHWPBAZL000WH31 Azalea Washdown Wall Hung WC. Soft Close Seat Cover(Included) FTPRTPLSOC0000000001 Straight Outlet Connector FTBKTSTLWP000000001 Wall Hung Brackets Set 360mm(H) x 365mm(W) x 530mm(L)	26	408.00	10,608.00
		C	AGAL-AKRON B-18 Manual in-wall box type WC flushvalve c/w CP 700x300x32mmØ Lshaped flushpipe & 32mm rubber spud	26	341.00	8,866.00
Е	FV1	·V1	AGAL-AKRON 129340 32mm rubber spud (for back inlet WC)	26	3.00	78.00
			AGAL-AKRON 136CY-800500CP CP L-shape flushpipe 800mm x 500mm x Ø32mm	26	60.00	1,560.00
			То	Collecti	on C/20/21 :-	26,508.00
А	Т9	714	AGAL-AKRON EH-1075 1/2" M/M CP angle valve with quarter turn lever handle & wall flange c/w flexible hose, cleansing nozzle & wall bracket.	26	52.00	1,352.00
В	A1	JE .	AGAL-AKRON 1008 Stainless steel SUS 304 wall mounted toilet roll holder with hood.	26	33.00	858.00
С	A4		AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.	26	29.00	754.00
D	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	26	14.00	364.00
F	T5		AGAL-AKRON 7203-926 CP Brass Wall Sink Tap with Round Swivel Spout, QT Lever Handle & Wall Flange	13	91.00	1,183.00
			То	Collecti	on C/20/22 :-	4,511.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)	
А	F1	A230	<b>AGAL-AKRON A-230-4 4</b> " square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	13	14.00	182.00	
В	D2c		AGAL-AKRON A-186 1¼" CP brass Deluxe bottle trap with 210mm long vertical pipe & 320mm long outlet tube.	13	71.00	923.00	
Б	B P3c		AGAL-AKRON WPC38 1½" S/S sink strainer waste with CP brass screw c/w CP ball chain, plug & stay.	13	4.00	52.00	
С	V6		Solid Surface Baby Bath with built in basin(s) c/w 100mm backsplash with 200mm front & side fascia of thickness 12mm. ( PADDED FOAM BY OTHER) Bowl Size: 500 (L) x 400 (W) X 175 (D) mm Overall Size: 1500 (L) x 600 (W) mm	2	1,848.00	3,696.00	
D	Т5		AGAL-AKRON 7203-926 CP Brass Wall Sink Tap with Round Swivel Spout, QT Lever Handle & Wall Flange	2	91.00	182.00	
		P1a	AGAL-AKRON 6004B 1¼" CP ZDC bottle trap with 120mm long vertical pipe & 300mm long outlet tube.	2	24.00	48.00	
E	P1a		AGAL-AKRON A47-B 1½" CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long slotted tail & CP counter nut.	2	26.00	52.00	
	To Collection C/20/23:						



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	KR/Faz/1019/054  AMOUNT (RM)
Α	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	2	14.00	28.00
В	А3	*	AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	2	172.00	344.00
С	A2a	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	2	101.00	202.00
D	B3b		Stainless steel grade 304 sink with single right end bowl. 100mm high integral splash back to the rear with no tap hole. Flat surface worktop and open shelving below. Sink with pressed deep bowl with a big waste outlet. Unit fixed to the wall with AAC blocks UX-10-X-60R Hex screws and supported by stainless steel tubular legs with adjustable stainless steel bullet feets.  Deep Bowl Size: 474 (L) x 396 (W) x 300 (D) mm  Size: 1000 (L) x 600 (W) x 900 (H) mm  Thickness:  1.2mm Top Plate & Sink Bowl  1.0mm Cabinet Body	9	2,059.00	18,531.00
Е	Т4		Ideal Standard (Armitage Shanks) CERAPLUS B8314 basin mixer exposed sequential with 180mm lever and 150mm spout, standard S-connectors with noise reducers.	9	1,000.00	9,000.00
			То	Collecti	on C/20/24 :-	28,105.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
			AGAL-AKRON A-126-C38 1½" CP brass sink Tubular P-trap with 180mm long vertical pipe & 330mm long outlet tube.	9	48.00	432.00
А	P2a	ta ta	AGAL-AKRON A43-B 1½" dome-headed CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long unslotted tail & CP brass locking nut.	9	28.00	252.00
В	B5		AGAL-AKRON MEDICARE DOUBLE DEEP BOWL SINK Stainless steel grade 304 sink with double centre bowl. 100mm high integral splash back to the rear with no tap hole. Flat surface worktop with swing door. Sink with deep bowl with a big waste outlet. Unit fixed to the wall with and supported by stainless steel tubular legs with adjustable stainless steel bullet feets. Deep Bowl Size: 474 (L) x 396 (W) x 300 (D) mm Size: 1800 (L) x 600 (W) x 900 (H) mm Thickness: 1.2mm Top Plate & Sink Bowl 1.0mm Cabinet Body **Size is subject to site measurement	23	4,353.00	100,119.00
			То	Collecti	on C/20/25 :-	100,803.00
А	Т4		Ideal Standard (Armitage Shanks) CERAPLUS B8314 basin mixer exposed sequential with 180mm lever and 150mm spout, standard S-connectors with noise reducers.	23	1,000.00	23,000.00
В	A2	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	23	101.00	2,323.00
С	А3	*	AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	23	172.00	3,956.00
D	A6	18 6 18 6 18	Stainless steel grade 304 mop holder with rag hooks. Size: 660 (L) x 122 (W) x 93(H) mm	23	295.00	6,785.00
E	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	23	14.00	322.00
F	P2a		AGAL-AKRON A-126-C38 1½" CP brass sink Tubular P-trap with 180mm long vertical pipe & 330mm long outlet tube.	23	48.00	1,104.00
	. 2.0		AGAL-AKRON A43-B 1½" dome-headed CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long unslotted tail & CP brass locking nut.	23	28.00	644.00
			То	Collecti	on C/20/26 :-	38,134.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	B3d		AGAL-AKRON MEDICARE DOUBLE DEEP BOWL SINK Stainless steel grade 304 sink with double centre bowl. 100mm high integral splash back to the rear with no tap hole. Flat surface worktop with swing door. Sink with deep bowl with a big waste outlet. Unit fixed to the wall with and supported by stainless steel tubular legs with adjustable stainless steel bullet feets. Deep Bowl Size: 474 (L) x 396 (W) x 300 (D) mm Size: 1800 (L) x 600 (W) x 900 (H) mm Thickness: 1.2mm Top Plate & Sink Bowl 1.0mm Cabinet Body **Size is subject to site measurement	1	4,353.00	4,353.00
В	Т4		Ideal Standard (Armitage Shanks) CERAPLUS B8314 basin mixer exposed sequential with 180mm lever and 150mm spout, standard S-connectors with noise reducers.	1	1,000.00	1,000.00
С	A2	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	1	101.00	101.00
D	А3		AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	1	172.00	172.00
			То	Collecti	on C/20/27 :-	5,626.00
^	P2c		AGAL-AKRON A-126-C38 1½" CP brass sink Tubular P-trap with 180mm long vertical pipe & 330mm long outlet tube.	1	48.00	48.00
A	FZd	P2a	AGAL-AKRON A43-B 1¼" dome-headed CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long unslotted tail & CP brass locking nut.	1	28.00	28.00
В	B3b	6	AGAL-AKRON MEDIK R25U-SB50 SINGLE DEEP BOWL INSERT SINK (under-mount) 304 grade stainless steel single bowl single non-reversible kitchen sink of size L540 x W440 mm with 1.0mm thick c/w 3.5" waste. Bowl size: 500x400x220mm	4	328.00	1,312.00
С	Т5		AGAL-AKRON 7203-926 CP Brass Wall Sink Tap with Round Swivel Spout, QT Lever Handle & Wall Flange	4	91.00	364.00
	F1		AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity	4	14.00	56.00
D		A230	and 30mm long tail to suit 3" diameter PVC pipe.		on C/20/28 :-	



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
A	P3c		AGAL-AKRON A-186 1¼" CP brass Deluxe bottle trap with 210mm long vertical pipe & 320mm long outlet tube.	4	71.00	284.00
A	rsc		AGAL-AKRON WPC38 1½" S/S sink strainer waste with CP brass screw c/w CP ball chain, plug & stay.	4	4.00	16.00
В	B3d		AGAL-AKRON MEDICARE DOUBLE DEEP BOWL SINK Stainless steel grade 304 sink with double centre bowl. 100mm high integral splash back to the rear with no tap hole. Flat surface worktop with swing door. Sink with deep bowl with a big waste outlet. Unit fixed to the wall with and supported by stainless steel tubular legs with adjustable stainless steel bullet feets.  Deep Bowl Size: 474 (L) x 396 (W) x 300 (D) mm Size: 1800 (L) x 600 (W) x 900 (H) mm Thickness: 1.2mm Top Plate & Sink Bowl 1.0mm Cabinet Body  **Size is subject to site measurement	1	4,353.00	4,353.00
С	Т2	+1	AGAL-AKRON ZY-3112 1/2" CP medical bibtap with 180mm long elbow action, quarter turn lever handle & wall flange.	1	50.00	50.00
D	A2	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	1	101.00	101.00
E	А3		AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	1	172.00	172.00
			То	Collecti	on C/20/29 :-	4,976.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
			AGAL-AKRON A-126-C38 1½" CP brass sink Tubular P-trap with 180mm long vertical pipe & 330mm long outlet tube.	1	48.00	48.00
А	P2a		AGAL-AKRON A43-B 1¼" dome-headed CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long unslotted tail & CP brass locking nut.	1	28.00	28.00
В	В9		AGAL-AKRON MEDICARE SLOP HOPPER WITH SINGLE DEEP BOWL SINK Stainless steel grade 304 combined right/left (please specify) side slop hopper with sink. Top inlet/Back inlet for slop bowl flush fittings (please specify). Flat surface single drainer/worktop. 100mm high integral splash back to the rear with no tap hole. Marine and bullnose edges. Sink deep bowl with a big waste outlet. Open single layer shelving with swing doors. Unit fixed to the wall supported by stainless steel tubular legs with adjustable stainless steel bullet feets.  *Subject to site measurements Deep Bowl Size: 540 (L) x 380 (W) x 300 (D)mm Overall Size: 2500 (L) x 600 (W) x 900 (H) mm Thickness: 1.5mm Top Plate & Sink Bowl. 1.0mm Cabinet Body.	4	6,471.00	25,884.00
С	Т4		Ideal Standard (Armitage Shanks) CERAPLUS B8314 basin mixer exposed sequential with 180mm lever and 150mm spout, standard S-connectors with noise reducers.	4	1,000.00	4,000.00
			То	Collecti	on C/20/30 :-	29,960.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	A2	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	4	101.00	404.00
В	А3	1	AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	4	172.00	688.00
С	A6	18 6 18 6 18	Stainless steel grade 304 mop holder with rag hooks. Size: 660 (L) x 122 (W) x 93(H) mm	4	295.00	1,180.00
			AGAL-AKRON A-126-C38 1½" CP brass sink Tubular P-trap with 180mm long vertical pipe & 330mm long outlet tube.	4	48.00	192.00
D	P2a		AGAL-AKRON A43-B 1¼" dome-headed CP brass push button basin pop-up waste with brass spring loaded mechanism, 56mm long unslotted tail & CP brass locking nut.	4	28.00	112.00
E	T14		PRESTO 12A 39211 TIMED FLOW CLINICAL PAN SPRAYER + BACK FLOW PREVENTER + SHOWER HEAD 45°	4	1,193.00	4,772.00
			То	Collecti	on C/20/31 :-	7,348.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	FV3		AGAL-AKRON WESER WY103 Concealed cistern come with dual flush actuator in ABS chrome and flush pipe and rubber spud	4	375.00	1,500.00
В	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	4	14.00	56.00
С	A2a	3	AGAL-AKRON FD-923 Stainless steel wall mounted liquid soap dispenser (vertical) in satin finish - 1.2litre	1	101.00	101.00
D	А3		AGAL-AKRON FD-928 Surface mounted stainless steel paper towel dispenser with lock. vol.: 450c-fold	1	172.00	172.00
E	A4		AGAL-AKRON 18104-RD Chrome plated brass double robe hook with round flange.	61	29.00	1,769.00
F	A6	18 6 18 6 18	Stainless steel grade 304 mop holder with rag hooks. Size: 660 (L) x 122 (W) x 93(H) mm	18	295.00	5,310.00
G	A7		Akron NB-DISP surface mounted stainless steel (Type 304) nail brush dispenser c/w finger nail brushes.	2	412.00	824.00
			То	Collecti	on C/20/32 :-	9,732.00



ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	A12	·	AGAL-AKRON 750-TR Stainless steel towel rail with 54mm diameter concealed fixing flange & screws (projection 71mm) 750mm length x 19mm diameter	1	56.00	56.00
В	A14		AGAL-AKRON 18114-RD Chrome plated brass towel rack with rail & round flange.	4	120.00	480.00
С	53		Eyewash with Stainless Steel Bowls C/W Foot Pedal.  Shower and Eyewash Bowl: 280mm (11") bowls are in polished stainless steel for long lasting use and recommended for outdoor installation.  Eyewash Assembly: Stainless steel with ABS sprayheads assembly with twin, soft-flow eyewash heads and instant flip-open protective dust-cover. The built in automatic pressure compensating valve assures safe steady flow under varying water supply conditions. Sprayheads also include a filter to protect users against particles from the water flow which may be damaging to the eyes and face.  Control Valve: 1" fast-action 316 stainless steel ball valve is used for the shower assembly with the stainless steel pull rod. 1/2" fast-action 316 stainless steel ball valve is used for the eyewash assembly with the stainless sreel push plate.  Pedestal: 250mm (10") aluminium pedestal with 3 mounting holes for 9mm bolts. Pedestal is brightly epoxy powder coated in yellow.  Pipe and Fitting: 1" Stainless Steel pipe epoxy powder coated to bright safety yellow colour.  Waste: 1" IPS. Water Supply: 1" IPS.  Signage: Drench Shower and Eyewash.  Certified to: ANSI / SEA Z358.1 – 2009 and AS 4775-2007  Pipe Threads: Pipe threads in accordance to BS supplied as standard.	4	2,794.00	11,176.00
D	B2		AGAL-GBH JASMIN HOSPITAL BASIN -CWBSNWHB0TJSM028WH33 Hospital Basin -FTAC0BB120FIXINGBOLT Basin Fixing Bolts w Washers & Inserts Set	9	371.00	3,339.00
			То	Collecti	on C/20/33 :-	15,051.00



17500	CCC-	SIGTURE	DECORIDEION		- AG2020/Alf/J	
ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
Α	B3b	6	AGAL-AKRON MEDIK R25U-SB50 SINGLE DEEP BOWL INSERT SINK (under-mount) 304 grade stainless steel single bowl single non-reversible kitchen sink of size L540 x W440 mm with 1.0mm thick c/w 3.5" waste.  Bowl size: 500x400x220mm	12	328.00	3,936.00
			То	Collecti	on C/20/34 :-	3,936.00
А	B3d		AGAL-AKRON MEDICARE DOUBLE DEEP BOWL SINK Stainless steel grade 304 sink with double centre bowl. 100mm high integral splash back to the rear with no tap hole. Flat surface worktop with swing door. Sink with deep bowl with a big waste outlet. Unit fixed to the wall with and supported by stainless steel tubular legs with adjustable stainless steel bullet feets.  Deep Bowl Size: 474 (L) x 396 (W) x 300 (D) mm Size: 1800 (L) x 600 (W) x 900 (H) mm Thickness: 1.2mm Top Plate & Sink Bowl 1.0mm Cabinet Body **Size is subject to site measurement	4	4,353.00	17,412.00
В	В6а		Akron Kitchen sink single bowl SUS 304 insert type in stainless steel with single drainer, big waste with plug and chain. Size External: (1066 * 457)mm Bowl: (356 * 432 * 150)mm	1	168.00	168.00
С	W1	F	AGAL-GBH AZALEA WALL HUNG WC #0173 CWWCPWHWPBAZL000WH31 Azalea Washdown Wall Hung WC. Soft Close Seat Cover(Included) FTPRTPLSOC0000000001 Straight Outlet Connector	12	408.00	4,896.00
			FTBKTSTLWP000000001 Wall Hung Brackets Set 360mm(H) x 365mm(W) x 530mm(L)			
			360mm(H) x 365mm(W) x 530mm(L)	Collecti	on C/20/35 :-	22,476.00
А	W2		360mm(H) x 365mm(W) x 530mm(L)	Collecti	on C/20/35 :- 479.00	<b>22,476.00</b> 0.00
A	W2		360mm(H) x 365mm(W) x 530mm(L)  To  AGAL-GBH WATTLE WALL HUNG WC #9183  CWWCPWHWPBWTL000WH32 Wattle Washdown Wall Hung WC.  SCPLSSRG00WTL-WHWH01 Soft Close Seat Cover  FTPRTPLSOC0000000001 Straight Outlet Connector  FTBKTSTLWP0000000001 Wall Hung Brackets Set	Collecti 6		
			To  AGAL-GBH WATTLE WALL HUNG WC #9183  CWWCPWHWPBWTL000WH32 Wattle Washdown Wall Hung WC.  SCPLSSRG00WTL-WHWH01 Soft Close Seat Cover FTPRTPLSOC0000000001 Straight Outlet Connector FTBKTSTLWP000000001 Wall Hung Brackets Set 370mm(H) x 390mm(W) x 605mm(L)  AGAL-GBH CALLADIUM WALL HUNG WC #0513  CWWCPWHT00000513WH31 Calladium Washdown Wall Hung WC SCBELI0G0513XXXCALDM Soft Close Seat Cover FTPRTPLSOC00000000001 Straight Outlet Connector		479.00	0.00
В	W3		AGAL-GBH WATTLE WALL HUNG WC #9183 CWWCPWHWPBWTL000WH32 Wattle Washdown Wall Hung WC. SCPLSSRG00WTL-WHWH01 Soft Close Seat Cover FTPRTPLSOC0000000001 Straight Outlet Connector FTBKTSTLWP000000001 Wall Hung Brackets Set 370mm(H) x 390mm(W) x 605mm(L)  AGAL-GBH CALLADIUM WALL HUNG WC #0513 CWWCPWHT00000513WH31 Calladium Washdown Wall Hung WC SCBELI0G0513XXXCALDM Soft Close Seat Cover FTPRTPLSOC0000000001 Straight Outlet Connector Concealed Wall Hung Brackets & Screw Set  AGAL-GBH Lotus Handicap Washdown Back to Wall WC S-155MM Top inlet CWJASONLTSFVTIHFTXS1 Top Inlet CWJASONLTSFVBIHFTXS1 Back Inlet FTPRTPLSOC00000000001 Straight Outlet Connector SCPLSVA2017000LBTW08 & FTANL00000SSTAILSPLS Soft Close Seat Cover C/W SS Hinges & Bracket	6	479.00 630.00	3,780.00
С	W3		AGAL-GBH CALLADIUM WALL HUNG WC #9183 CWWCPWHWPBWTL000WH32 Wattle Washdown Wall Hung WC. SCPLSSRG00WTL-WHWH01 Soft Close Seat Cover FTPRTPLSOC0000000001 Straight Outlet Connector FTBKTSTLWP000000001 Wall Hung Brackets Set 370mm(H) x 390mm(W) x 605mm(L)  AGAL-GBH CALLADIUM WALL HUNG WC #0513 CWWCPWHT00000513WH31 Calladium Washdown Wall Hung WC SCBELI0G0513XXXCALDM Soft Close Seat Cover FTPRTPLSOC0000000001 Straight Outlet Connector Concealed Wall Hung Brackets & Screw Set  AGAL-GBH Lotus Handicap Washdown Back to Wall WC S-155MM Top inlet CWJASONLTSFVTIHFTXS1 Top Inlet CWJASONLTSFVBIHFTXS1 Back Inlet FTPRTPLSOC0000000001 Straight Outlet Connector SCPLSVA2017000LBTW08 & FTANL00000SSTAILSPLS Soft Close Seat Cover C/W SS Hinges & Bracket 430mm(H) x 365mm(W) x 650mm(L)  AGAL-GBH SQUATTING PAN CWSQPWXT00ORS000WH51 Vegas without Trap #366 FTACCSHUPSENG00STRAP Loose S Trap	6	479.00 630.00 595.00	0.00 3,780.00 2,380.00



					l	KR/Faz/1019/054
ITEM	CODE	PICTURE	DESCRIPTION	QTY	RATE (RM)	AMOUNT (RM)
А	Т3		AGAL-AKRON EH-0211 1/2" CP bibtap with extended spout, quarter turn lever handle & wall flange.	3	30.00	90.00
В	T3b	4	AGAL-AKRON EH-0211A 1/2" CP hose bibtap with extended spout, 1/2" hose coupling, quarter turn lever handle & wall flange.	26	33.00	858.00
С	Т5		AGAL-AKRON 7203-926 CP Brass Wall Sink Tap with Round Swivel Spout, QT Lever Handle & Wall Flange	8	91.00	728.00
D	Т6		AGAL-AKRON 7203-926 CP Brass Wall Sink Tap with Round Swivel Spout, QT Lever Handle & Wall Flange	7	91.00	637.00
E	<b>T7</b>		AGAL-AKRON EH-1206S 1/2" wall mounted ablution tap with low swivel spout, quarter turn lever handle & wall flange.	25	46.00	1,150.00
F	F1	A230	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	256	14.00	3,584.00
G	F1a	E.S	AGAL-AKRON A-230-4 4" square S/S grade SUS 304 floor strainer with insect resistant trap, round edges with return for extra rigidity and 30mm long tail to suit 3" diameter PVC pipe.	65	14.00	910.00
		A230	and sommitting can to sait 5 diameter 1 ve pipe.			
		A230		Collecti	on C/20/37 :-	7,957.00
А	НЗ	A230		Collecti	on C/20/37 :- 396.00	<b>7,957.00</b> 396.00
A	Н3	A230	AGAL-AKRON AGXY32-29-1 Folding grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Can be folded upwards and with friction device downwards. Unit c/w CP metal plate supporting and fixing set for fixing to solid wall			
		A230	AGAL-AKRON AGXY32-29-1 Folding grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Can be folded upwards and with friction device downwards. Unit c/w CP metal plate supporting and fixing set for fixing to solid wall Ø35mm * 700mm  AGAL-AKRON AGXY32-27 (Reversible) L-Shaped grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Unit c/w fixing set and roses for fixing to solid wall	1	396.00	396.00
В	Н5	A230	AGAL-AKRON AGXY32-29-1 Folding grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Can be folded upwards and with friction device downwards. Unit c/w CP metal plate supporting and fixing set for fixing to solid wall Ø35mm * 700mm  AGAL-AKRON AGXY32-27 (Reversible) L-Shaped grab bar with nylon covered aluminium core & stainless steel end bends, anti-bacteria coating. Unit c/w fixing set and roses for fixing to solid wall Ø35mm * 700 * 700mm(end-to-end)  1st grade polished glass mirror with frameless bevelled edges c/w mirror screws. Size: 450 (L) x 600 (H) X 6 (T) mm  CHANGING MIRROR 1st grade polished glass mirror with aluminum frame c/w mirror screws. Size: 1600 (L) x 600 (H) X 6 (T) mm	1 10 47	396.00 222.00	396.00 222.00